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PROBLEM:
The following signal flow graph structure defines a linear time-invariant system:
x[n]
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(a) Write a simple formula for the the difference equation defined by the signal flow graph.

(b) For the following difference equation, draw a representation of this filter in a signal flow graph struc-

ture.

y[n] = 2x[n] 4+ 4x[n — 1] — 3x[n — 2] 4+ 3x[n — 3]
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—4x[n — 4] — 2x[n — 5]
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The following signal flow graph structure defines a linear time-invariant system:

x[n]
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YyInl= Vs ln-1] =3x[m)
Vin]= 7xIn-3] -2 x[n-2] ¥3xfn-1] - 3xIw]
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(b) Note Eilten coeffs arn backwands in
He shrocture dvaaon above . Thenefore

Lse. +he shructore. Let - be cle.\‘d’,
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